
Подготовка к ЕГЭ

задание № 23
варианты из сборника ФИПИ-2020



Вариант 
15



Вариант 
15



Вариант 
15 Когда -> 

=0?1->0=0

1 0



Вариант 
15

Метод 
замены
а
b
c
d
e
f
g
h



Вариант 
15

Метод 
замены

(a=c)->b =0
(b=d)->не с = 

0
(с=e)->d = 0
(d=f)->не e = 0
(e=g)->f = 0
(f=h)->не g = 0



Вариант 
15(a=c)->b =0

(b=d)->не с = 
0

(с=e)->d = 0
(d=f)->не e = 0
(e=g)->f = 0
(f=h)->не g = 0

1->0=0
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b
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e
f
g
h
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Вариант 
15

Метод 
замены

а
b
c
d
e
f
g
h

Когда 
a=0?х у х*у

0 0 0

0 1 0

1 0 0

1 1 1

1

1
3

1

1

3

3

3 Ответ: 
81



Вариант 
16



Вариант 
16

Метод 
заменыа

b
c
d
e
f
g
h
i

(a=c)->b =0
(b=d)->не с = 0
(с=e)->d = 0
(d=f)->не e = 0
(e=g)->f = 0
(f=h)->не g = 0
(g=i)->h = 0



Вариант 
16

1->0=0
a
b
c
d
e
f
g
h
i

0

0

0

1

1

1

1

0

(a=c)->b =0
(b=d)->не с = 0
(с=e)->d = 0
(d=f)->не e = 0
(e=g)->f = 0
(f=h)->не g = 0
(g=i)->h = 0

1



Вариант 
16

Метод 
заменыКогда 

a=0?х у х+у
0 0 0

0 1 1

1 0 1

1 1 1

Ответ: 
243
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Вариант 
17



Вариант 
17

Метод 
замены
а
b
c
d
e
f
g



Вариант 
17

Метод 
замены

(a=c)->b =0
(b=d)->с = 0
(с=e)->d = 0
(d=f)->e = 0
(e=g)->f = 0



Вариант 
17

1->0=0
a
b
c
d
e
f
g

0

0

0

0

0

0

0
(a=c)->b =0
(b=d)->с = 0
(с=e)->d = 0
(d=f)->e = 0
(e=g)->f = 0



Вариант 
17

Метод 
заменыКогда 

a=0?х у х*у
0 0 0

0 1 0

1 0 0

1 1 1

Ответ: 
2187
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Вариант 
18



Вариант 
18

Метод 
заменыа

b
c
d
e
f
g
h
i

(a=c)->b =0
(b=d)->с = 0
(с=e)->d = 0
(d=f)->e = 0
(e=g)->f = 0
(f=h)->g = 0
(g=i)->h = 0



Вариант 
18

1->0=0
a
b
c
d
e
f
g
h
i

0

0

0

0

0

0

0
(a=c)->b =0
(b=d)->с = 0
(с=e)->d = 0
(d=f)->e = 0
(e=g)->f = 0
(f=h)->g = 0
(g=i)->h = 0

0
0



Вариант 
18

Метод 
заменыКогда 

a=0?х у х=у
0 0 1

0 1 0

1 0 0

1 1 1

Ответ: 
512
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Вариант 
19



Вариант 
19

Метод 
замены

(a=b)->c =0
(b+не с)->d = 0
(с=d)->e = 0
(d+не е)->f = 0
(e=f)->g = 0
(f+не g)->h = 0
(g=h)->i = 0



Вариант 
19

1->0=0
a
b
c
d
e
f
g
h
i

0

0

0

0

0

0
0

0
0

(a=b)->c =0
(b+не с)->d = 0
(с=d)->e = 0
(d+не е)->f = 0
(e=f)->g = 0
(f+не g)->h = 0
(g=h)->i = 0
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Вариант 
19

Метод 
заменыКогда 

a=0?х у х+у
0 0 0

0 1 1

1 0 1

1 1 1

Ответ: 1+9=10
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Вариант 
20



Вариант 
20

Метод 
замены

(a=b)->c =0
(b+не с)->d = 0
(с=d)->e = 0
(d+не е)->f = 0



Вариант 
20

1->0=0

a
b
c
d
e
f

0

0

0

0

0
0

(a=b)->c =0
(b+не с)->d = 0
(с=d)->e = 0
(d+не е)->f = 0
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e
f

0

0

0

0

1
1



Вариант 
20

Метод 
заменыКогда 

a=0?х у х*у
0 0 0

0 1 0

1 0 0

1 1 1

Ответ: 729+81=810
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